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fyraror et T 3T gare
Pedagogy and Other Skills ( Q. Nos. 1 to 50)

3+ HT 3 ¥ o, e o ¥ T A o o & st o e W S

e T & 1 it weiecor & 991 ST ST 2

20&8347352:,9 Qﬁﬂ”g
(A) 18 (B 19
€ 16 (D) 41

If '+' stands for multiplication, 'x' stands for division, - stands for addition and
'+' stands [or subtraction, what would the following cquation stan_d for ?

20-8x4+3+2=7

(A) 18 - | B) 19

© 16 | o M

g A =26, SUN = 27, al CAT =?

_(A) 24 91/ 57

(C) 58 . | D) 27

If A = 26, SUN = 27, then CAT = ?

(A) 24 . (B) 57

© s D 2

afs Tl %2 91§ HEALING' 1 'BFIKHOJ' ferar < &t 3dt fe wmar 4
BEDTIME & fth YR ferar s 2

(A) EFCSJNF . (B) EFCSFNJ

(C] EFCUFNS 9%) 7 A Hg

In a certain code 'HEALING' is written as 'BFIKHOJ'. How is 'BEDTIME' written
in that code ?

(A) ~ EFCSJNF (B) EFCSFNJ

(C) EFCUFNS (D)  None of these
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Pttt st & ) et den 5 g N 1
ST ea| P
|
11| 6 | 174 :
8 [13| ?
(A) 222 | B) 268
(C) 246 | _ (}7( 254
Find the missing number from the given series :
9 | 8 |162
11| 6 |174
8 [13] 2
(A) 222 | (B) 268
(C) 246 : D) 254
frAfeifiad dema & e d T T 37 Iy ?
9;39_85)”987@[98765#987654{98765- |
A 3 | ‘ (B) 2 |
© 1- (DY T § HS T

What should come next in the following numbers series ?

9898798769876598765498765

(A) 3 (B) 2

1 ~ (D) None of these

(C)
ﬁmﬁf@aﬁﬁw%wﬁmm%wﬁmwmmﬁmmm

by

% 2 |
a) T () AR

(€

3/ 48
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Which of the following is Considered as society's main resource for socia

experimentation ?

(A)  School , (B)  Family

(C)  Mass-media . (D)  All of these
Pt 4 for Forenoel oot 37RO % S B HETTHA & ?
® e (|) el

(e e A o) FH I
Which of the following students need their teachers' attention ?
(A)  Intelligent (B) Introvert

() Slow learners (D)  All of these

fr=fofad o Q S TSTHT ¥ fAU YR SEH BT § 2

(A)  WIHITSTeh-aTTee STfHeReId T TR

(B) fém%mﬁéﬁxﬁ?wmw ‘

€ ST, SR 3R Al

(D) T W R WIS e

;Nhich of the following lays the foundation for curriculum ?
(A) Socio-economic priorities and government

(B) Psychol’ogical and religious bases of education

()  Philosophy, Sociology and Psychology

(D) Study materials and social needs
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o, fret A QW amyfren wieekr Rl 3 srpfcrendl o ? 4
R A A\ @ e ;
(€) =AM &R (D) @) faaers |
Which of the following ﬁmdern Indian educationists was very much naturalist ? {
(A) J, Krishnamurti (B)  Sri Aurobindo ﬁ

(C)  Rabindranath Tagore (D) gwami Vivekananda

g0 Swilfel 1 Rrererme’ e ge & 6w §

- A
B e &

) e R B) 9. &
© . e D) T, §WE ;
The book 'Pedagogy of the Oppressed' i9 authored by

(A)  Paulo Freire (B) J.Halak

(C) J.Dclors (D) N. Bennett
ﬁj} a&ﬂﬁwaﬁwqﬁﬂzzaﬁimaﬂﬁaﬂmﬂ404%.??{3?111@1311 &l TR
W ‘21 .2’ b/ k2 ly.r"/
m * lr\‘.{ ol 0 ]/\?l\‘ i
U\ IR
k} ‘\ L‘}/Q/\ l
(A) 24 - B) 78

)zj' 40 (D) 80

If the sum of two numbers is 22 and the sum of their squares is 404, then the

product of the numbers is

A 24 B) 78
€ 40 D) 80
678 | Set-F T T 5 7 48
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Uy SIS . N N \ . " ‘ .
& &l 396 ufer el ) g0 @ &) Tl Aer &1 dee W99 1oy,
I BRI Y Sy G TR gt S 10% b g el &1 U er-a 03 f

AT ) sy Al by g 9

W TR B) 1% ® i
R (D) 8% ol @

A person sells two machines at Rs. 396 cach. On the first machine he gaing
10% while on the second machlinc he loses 10%. What percentage of profit or
| loss did he make in this entire transaction ?

(A} Noloss n6 gain ' (B) 1% loss

(C) 1% profit (D) 8% profit

s ‘i&;otﬁaﬁﬁaéaﬁaqm Rreiiet/ i 2 TR @ 95 @ 31 e am

) % wieHH W @ TF e P g w2
(%" 10 Ug (B) 25 WHhg
(C) 40 UFs ' D) 50 W&g

The 600 metre long train is running at a speed of 54 kmph. In how much time

will it cross a person standing on the platform ?
(A) 10 scc _ (B) 25 sec
(C) 40scc (D) SO scc

14, T oA Y AT 39 18,000 394 ¢ 3 Ik A A 30% B g et € ot 3
3G TG 3 1§ 2 | |

(A) 224007 | B 23,400 T
24400798 | (D) A9 | &

pr—
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i
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b

=

The monthly income of a person jg Rs. 18,000, 1f his income is increased by

30%, then what is his monthly incope now ?

(A)  Rs. 22,400 | (B)  Rs. 23,400
(€} Rs. 24,400 (D) None of these

e < fot sl o sivet 53 ) wad o fai i

W 35 - By 45
-_f
(C) 55 D) 57
The average of nine consccutive odd numbers is 53. The least odd number 18 'i
(A 35 B) 45
(€ 55 D) 57

aft T e e R S 96% §, Al st e 2

())’ 4-17% | (B) 427%

© 372% ' D) 892%

If the cost price is 96% of the selling price, then what is the profit per cent ?

Ay 417% (B)  427%

) 372% o (D) 892% |
wﬁm‘ﬁ@wmaﬁw%m4mmm%sﬂ1mwm
F felm 1 st @ der 31 A 98 W 75 W S 125 37 FITFer HT &

a},mmuﬁmfwmwﬁﬁm% 0 N
L p-

B) 40

(A) 35 | (B) _ e ,,7?/
. T ; 0

() 36 ° , ( 42 v\
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In an eXamination, a student SCOTES 4 marks for every correct answer ang 105@,

I mark for cvery wrong answer. If he attempts all 75 queSt‘ions and Secyp,

125 marks, the number of questions he attempts correctly is

A) 35 @ 40
(C) 36 (D) 42
67 AR 101 & g fiysy wemail F 91 &

1 27 B 24
(C) .25 D) 29

Number of compbsite numbers lying between 67 and 101 1s

(A) .27 B) 24
(C) 25 (D) 29 |
3} et T UEET 120 ¥ R S it @ ATHA 289 T <) e w1 A
' ~ \
@ 21 B 22 ,ﬁq)?«f;%y
’;L)fh .

© 23 ol Dy 24

The product of two numbers is 120 and the sum of their squares is 289. The

sum of the two numbers is

(B) Py

a) 21
(D) 24

) 23 ‘
ufererer e 41 8

af a0 RS 1 R 50 SRS F FAET F K & A,
il
(B)  25% @I

(D)  20% &
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If the selling price of 40 articles is cqual to the cost price of 50 articles, the loss ‘
or gain per cent is
(A)  25% gain (B) 25% loss \1
(C)  20% gain (D)  20% loss 11
sfirh e % EsAERor o a2 2 ;

() TUe = & it el R ‘
B W el ) o B
©  wsh ol P g o st fen

ohss ]\

pa

What is the meaning of Universalisation of elementary education ? !
(A) Education for all children from backward classes
(B)  Education to all gir-ls children

(C) Frece and compuls'ory.cducation to all children
(D) F;rcc and compulsory cducation to the children of 6 - 14 years age |
Wﬂmﬁ%mwmmﬂ%ﬁaﬁaﬁfﬂw%ﬁéﬂﬁnﬁﬁﬁaﬁa@
et i 2 :

W T ST @) iR ST

() B A o (9/ giierg Sera |Afa

The first committee to be constituted after independence by the Government of

India on women's education was

(A) Radhakrishnan Commission (B)  Mudaliar Commission

(C). Kothari Commission (D)

----------------------------------------------------------------------------------------------------------

sT-25(I)| - © 9 /48 l
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23, AdUT 7Y Ii7 [=ana] & gEgasdal oGl o

A) S T = H) SRS
(C)  JOT SITIT o7 Q) FHE gH

Students with hearing impairment require

. (A) Language training (B) Auditory trauning
| (C)  Speech training (D) all of these
‘ 24, UG FEUS RET uRse (9.ALA0) B I eEEe TR $ 98T w9
(A) 19483 (B) 19Q5
(Cr 199 ‘ (D) 1997

of the Parliament ?

(A) 19a3 (B) 1993

(C} 1996 tD) IQQT

= T o & 5 g . o~ e ~ 3
M T N S -9 SRS SR T 2

Q) Eu Eens

(B) SHS S/

~ . .
(Q) | SEyT IS (:D) St G‘RI\EF{
Educau AN include which of X i

cauon dees not include which of the following resources ?
(A) Financial resources (B)

Human LUSOUIrces

(C) Material resources (D) Water resources

26. qumwﬁ&?wﬂmm.

’ ; 3 ,_‘,“\T - X
r A s B ¥R Wi
v (C) éﬂ?“ I. sfs

; ‘ oy W

l-., ................ advocated Human Re

lations approach in education
(A)  Elton Mavo

(B) Henry Fayoel

(D) Davis

.................
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27. WWWWH@W%

(A} TR Tgr (B) W B FEI wgT

€ Rl # sy weEn (D)  SRISPIRT g AT
The mid-day meal Programme is initiated with a main view to
(A)

Increase enrolment ‘ (B) involve community

(€) cengage teachers (D)  solve unempléymcnt
28. He-UIST=ATHF fRar
@) BT % e fea
B) Tauww fawm & o .
(C) B i foemer sie ¥ Vet & foi
(D) TR H H R FA F few
Co-curﬁcular activities are to
- (A) faciiitate pupils' dcvélopment
(B) provide a progressive school
(C) | keepvpupils from dropping out
(D). meet thé demands of the community

09, TETI et fear

y | 3T@hE USeR NI (B) WA STTERI
©) M N - D) T was g

Psychoanalysis, is done by
(A)  Alfred Adler (B)  Carl Jung

Sigmund Freud

(C), Einstein RT———— (D)
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Fmﬁ‘ﬁﬁﬁﬁwmm“ fiadd T IR HTA & 2

A g . (B/) s feall

C) =g . (D) g@EH

Who said education follows social change ?

(A)  Ottaway (B) John Dewey
(C)  Johnson . | (D)  Durkheim

’Ifau?ﬁ}ﬁﬁaéaawqwemm%,ﬂ?m 4l R 14@3(7[“‘1@@]

2O 7 12T 8C =476

m e = ?
(A) 1,283 FuaT (B) 1,887 %9dl
(C) 1,183 TN | pf AW

If the price of 12 chairs and 8 tables is Rs. 676, then what is the price of
21 chairs and 14 tables ?

(A)  Rs. 1,283 (B) Rs. 1887
(C) Rs. 1,183 (D) None of these
264 T 60% T & - )%

/m) 448 T 22% / (B) 544 1 17%
(C) 180 &I 55% (D) T 9 FE T

60% of 264 is the same as

(A)  22%of448 ' (B)  17% of 544

(C) 55% of 180 (D)  none of these
100 @@ # el fherlt s dem ¥ -

A 2] (B) 23
<
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The number of total prime numbers up to 100 1s

(A) 21 (B) 23

o
(@)

(C) (D) 26

3 - Y WEIH T PEES 117 §, @ S0 Ggaq gonae §
g) 119

A) 39 8 )

© 117 D) T 9 Fix Tl

Product of two co-prime numbers is 117, then their LCM is

(A) 39 B) 119
(€ 117 (D) none of these

, _\ .
Us W& 2794 Uigd 96T ¥ 20 A 1 & © a\,‘,s/—«‘
(A 75 (B) 50 .
4:) 25 (D) 40 s

A number exceeds its one-fifth by 20. The number is
(A) 75 (B) 50

(@) 25 (D) 40

205

FoacR Tt R % AR A Rl S T T S e R AR Al ge de

=

3 frefotEd § § SH-91 YR 999 I0E T 2

w, PrEICl] (B) TRIHR
(C) e D) T d FE @

For conducting a large survey to know the opinion of teachers regarding Higher

Sccondary Education, which tool will be most appropriate ?

(A) Questionnaire . (B) Interview

(C)  Obscrvation (D)

None of these

13/ 48
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e TN
T g % g for s QO €
(A) s 7=
®) Foven fergen i a7 ST H AT
©) i ) SR @ R H T
D) 9§ = T

EduCaLiona] psychology as a subject lrnphes

(A)

(B)

(€

(D)

Educational knowledge
Knowledge of education applied to psychology
Integration of knowledge of psychology to education

None of these

Pt o @ B-w1 wwE e § 9 $ w9 4 fouen @ gee W)

(D)

e fomre & 7 Fer

o W#Aﬁéﬁ%‘jaﬁ‘iwwﬁm

- Which of the following functions is not related to school as an agency of

education ?

(A)

(B)

L (©

(D)

Preserving knowledge, values, custams etc.
Giving definite solutions to the religious problems
Suggesting ways and means to social development

Socializing children for perfor ming their future role
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40.

41.

20?
el % 2R T HH-91 gy ST & fgwrEaR & Eer | fv—{dne.m AT ?
/(\\) T B FRIER
9}/ m (D) H | B8 Té

Which school of Philosophy in education will plead affinity with Darwin's theory

of evolution ?

(A} Pragmatism (B) Ildealism
(C)  Naturalism (D)  None of these

WWHﬁmﬁqmwamﬂﬁ-l4mmWﬂmr
HifeTeh TSR § 7

(A) DT a5 (B) FET 42
% HIT 21(A) (D) =% 51(B)

Which of the follow'ing, Articles of the Constitution of India lays down that

cducation of children aged 6 - 14 years is a Fundamental Right ?

(A) Article 45 . (B) Article 42
(C)  Article 21(A) (D)  Article 51(B)
mwmmmmwaﬁmmmammﬁmg
gpy A3 K e 28 1
9
7 719, B) 23 a3 X L

V 2 ’ 3 % _ 9 3 )qu

. o X/,
) 29 | (D) 31 2 21

The sum of three consecutive odd natural numbers is 87. The smallest of these

numbers i1s
(A) 27 : (B) 23

€ 29 | (D) 31
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12, AR 5 =iy 1Owﬁ6ﬁqﬁﬁ6ﬁqﬁﬁqmmwm%mm
' ST 8 92 @ g 16 el @ (o (Gl S HeRd &

; W st B 4f
| © sfA (D) ¥ A FE T

i S men can prepare 10 toys in 6 days working 6 hours a day. Then in how p,

o
)

days can 12 men prepare 16 toys working 8 hours a day ?

(A) 3 days (B) 4 days

(C)  Sdays (D)  None of these
43. e A ¥ gt ot gem FA F R 4, 6, 8, 12 R 16@ﬁ#ﬁﬁmwm2
| AT & ? . ol

s
®) 46 | 5L B 48
~' Ln e
/(Q/- 50 \V (B} 52

The smallest number which 1

remainder 2, is
P B 48

(C) S0 (D) 50

wwwsgﬁﬁqﬁaﬁiﬁ%ﬁ%ﬁmmﬁﬁmﬁ 35 e o 7
®1FR A fa iy  d o

44.

.~
/ S :’_{ w 19-23 fopHl /ey (B) 32 fowd}/gey
ﬁyi/ /  (C) 48 W/W D) 515 fRd)/ge
g)) V A car travels first 39 km distance in 45 minutes while next 25 km distance in
fjf 35 minutes. What is average speed of the car ?
"’ | (A) 19:23 km/hour

(B) 32 km/hour

S1-5 km/hour
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5. 1T AT HEA S A A 209 gy ), q@ Gl H1 A Q1 Ao @ s B

RIS _1,(
(A) 20 ([’3)‘, 33 3 "o
~ iy 2 (AN -
(€) 10-3— o (D) 20%
Radha’s salary is 20% less than Salma's salary. Then Salma's salary is more j

than Radha's salary by

A)  25% (B) 33%%
©  162% (D) 20%

46, A AR BEEA €| Ram s%%’mméﬁRﬁaﬁ%le ST F Gy ¢ ?

(A) I ,f B @
4%"

(C) E&A (D) Il

A and B are sisters. R and S are brothers. Daughter of A is sister of R. What is

relation of Bto S?

(A)  Mother ' (B)  Grandmother
(C) Sister ; . (D Aunt
47. 99 ¥R 'BD', 'EG' § €atdd 3R 'MO’, ‘PR’ §, al 3€l YR ‘FH [S6Q Gafad & ?
|- YL
A)  JH , : (B) IL

© JL | 9)/ K

As 'BD’ is related to 'EG' and 'MO' is related to 'PR’, in the same way 'FH' is

related to whom ?

(a)  Ji B) IL
© J D K
48, TN ST FAT H A W 6 A SR WY F 28 df T W ¥ Feqw F oA [ DA © 2
@A) 28 ’ B
'( ) y (B) 32
C) 34 /( Dy 33
i == - m— s oy
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49,

50.

[ 406678 ] Set-F

Maya ranks 6th from the bottom and 28t from the top in her class. How man

students are there ir the class ?

(A)  28. (B) 32
: 51

(Ci 34 (D) 33
At i g e A 4 il 7 I

QT W : : fRoH ¢ ?

) vEE @ ETE
© R () T
Find the related word from the given alternatives : =
Book : Publisher : : Movie : ?
(B) Editor

(A) Writer -
(C) ' Director (D) Producer

?ﬁﬁﬁmmmﬁ,ﬁn’ém@w@@rmwﬁ:

121, ?, 169, 196, 225

) 132 | B 151
© 136 D) 144

In the following question select the missing number from the given series :
121, 7, 169, 196, 225

(A) -~ 132 | : o (B) 151

-----------------------
----------------------------------------------------------------------------

ST-25(I1)

...........................................................
------
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( o To 51-150)
51. fae B % wE-w Ay e f 7
() SEtEs B T
© FgaT o =
Which of the following organisms is regarded immortal 2
(A) Paramoecium (8) Volvox
(C)  Tertoise (D) Amocha
52.  BI3Yl 1 WY
(A) I B I
(C) TR & forw =& (D) ¥ ¥ W
Tentacles of Hydra are |
(A) Solid (B) Eight ‘]
Q) Not f.or protection (D) All of these \J
53, Shetenter feddte @ '
(A) T{Fjél F o e W (1/31 \g & RETRY ’
(€ T F O R wE
Fasciola hepatica occurs in | ,
{
(A) Bile duct of Man (B) Liver of Sheep ‘
(C)  Liver of Man (D) None of these
140567315“}‘ ............................................... s'r.zs(u) ............................................................. . mi‘\, |
|
1
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54. W(ﬁ?ﬁ?)mﬁmw% |
() TR o (B) ST i
© e wg o ¥ 9 &g 7@
Silk is obtained from
(A) Laccifer lacca (B)  Nosema bombycis
©  Bombyx mori (D)  None of these
55. 11 3 Tt el fgeor 7 €T & 2 .
By foer (e ) B i ( Eefeia )
© i (D) g (& )
Which one of the following has an open circulatory system ?
(A Periplaneta (B)  Hirudinaria
(C)  Octopus (D)  Pheretima
56. YIS T T FIVTATT 2 & |
(A)  @ume g B g
€ w=H D) W% {
Nucleated RBCs occur in | |
(A)  Rabbit B) Rat
© Man D) Frog
57. TS &) 3@ &
(&) SRR B  WerFRR
(S HEISFRR (D) R
Brain originates from
(A)  Ectoderm (B)  Mesoderm
o e P
[ 406578 ] St.F ST_zé(II) ........................................... o0 /4%
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qE T 0TS WA &

38.
(A) TR M AT §
()  STREGERY gerw] A
Bowman's glands are found in
(A)  External auditory canal
(C) Juxtamedullary nephrons
59. W AW FH o e &
(A)  T-RET G
€ SREE
Mammalian Placenta is formed from
(A) Yolk sac
(C) Chorion
@V GUIRT 1 30-93 &

(A)  2023/1023

(C) 2033./ 1023

Dental Formula of rabbit is
(A) 2023_/ 1023

(C) 2033/1023

é:z/ qRIAe &l TR =

| 406678 | Set-F

(A)  TERI B 9
(€) THo Silo GIATH

(B)

9}

(B)

(D)

/(B‘)

(D)
(B)
(D)
(D)

(B)

(D)

(B)

o

Discovery of Transposons is related with

‘(A)' . Barbara McClintock

(C) . G. Khura_ma
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Cortical nephrons

Olfactary epithelium ‘

e 1\1 “

Iod |

Chorion allantois

Amnion

2033/1032

2033/1033

2033/1032

o

2033/1033

v O

o o HreeA d
Ho To WA A

N

G. J. Mendel .

T. H. Morgan
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62. VYT WY 0F 6 &

. N
R s (B)- farfr® =
© o) A
Rescarcher himself is a source of
(A  Primary (B)  Secondary
b (©) 'Tertiary : (D) None of thes_e
4 63, T i g v o § 57
_ (?),-- 0 B 10
() 11 (D) 12
Number of sﬁbunits in a microtubule is
(A) . B 10
N - € 11 | (D) 12 ’
64. WGl g TR ¥ 2 \
o e ‘ (B) deh-fade
o) eEEH | (D) ST
' Which one is a learnt behaviour ?
(A) Reflex : (B) Reasoning
(C)  Tropism ) (D) Taxis
65, Ry @ i fuf sreEe §
J (A)  UTH-TCHE SEO] . (B) UMH-RUITHE SET]
V (C) frerefaar = | (D) Fa &
Protcoglyéans are méjor cell wall components in
(o) ~ Gram-positive bacteria - (B)  Gram-negative bacteria
" (© Rickettsia ' (D) Helminthes
l40667815et_1.~ ...................................... = 'r-zs(n) ............................ i 22 7
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gt AT O afvr g

(A) 3T YA <A1

(C) AT

Blastema [ormation is a part of
(A) degeneration

(C)  osmoregulation

(A) m'sﬁﬁmi
(C) TeARHAH

(B

(D)

(B)

(D)

(B)

(D)

Which is amino acid derived hormone ?

(A) Thyroxine

(C) Melatonin

Hfcafeare &

(A)  1-EEGERIEHTh eI
(C)  25-FTggie FHeTheahIieT
Calcitriol is |

(A) ~ 1-hydroxy cholecalciferol

(C)  25-hydroxy cholecalciferol

60. iRl & aFIl Sl €
) T
(C) AT
Taxonomy includes
P s

B)
D)
(B)

(})

~(B)

(D)

(B)
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regeneration

none of these

QAR
g @ gl

Epinephrine

All of these

24 FIEGIRl ShoTheHIhet
1, 25-SEERSE ook

24-hydroxy cholecalciferol

1, 25-dihydroxy chlolecaliferol
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70 TR v ufarfee e
(A) IR welifii g By ugdy SR EI
(C) 39 uw=R g (D) Qe "R §RI
The term antibiotic was coined by
(A Alexander Fleming (B)  Edward Jenner
(€) Louis Pastcur . (D) Selman Waksman
71 T A S e wu @ 7
(A) Wik B) e
©) R o) @
Which of the following is the uéoclomntc phylum ?
(A) Porifera | (B)  Cnidaria
(C) Platyhelminthes (D) All of these
72.  3TRIAICRE® & |
(A)  dferargars B) enefeEa Ao
() RIS (D) fateidis
Archimollusca is a
(A) Pclecypod (B)  Hypothetical mollusc
(C)  Gastropod (D) - Cephalopod
73.. Fer T A v W @ &
(A g (B) ?Iﬁ:ﬁ'n
CRAL ) feremfen
Which of the following is not a flagellate protozoan ?
(A) pParamoccium (B) Euglena
(C) Trypanosoma (D) Leishmania
,406678l56tp Ty a7 48
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74.

CIEE e T Yo ¢

gy T

ECACIKe=sde)
c) TR

Dipleurula larva is associated with

(A) Echinoderms

(C) Molluscs

(o) Frtetian o @i et & 2

76.

77,

a) o

L4

© ¥

¥

(D)

(B)

(D)

(9/

(D)

Which one of the following is catadromous ?

(A)  Lamprey

(C)  Eel

foRT gy qigT STl @

ymﬁ

() SwERd

Venous heart is found in

(A) Mammals

(C)  Amphibians
REEEEEURRN

(A) RIS HETEHCd & GRH
() = TS HeTehed & ARH
Tetrapod ornginated during

(A)  Proterozoic era

Q) Mesozoic cra

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

AP

FathelETeed |
wifered ¥

Cephalochordates

Annelids

g
weie e

Rohu

Flatfish

WgT &

g o

Reptiles

Fishés
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gA (B) T (C)

Palaeozoic cra

Both (B) and (C)
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8. 9V Ud 9rgl G, gt qer e & 9 T e 2

@) frg (B) wE= H U
€ aww g (D) @S -
Flat and broad beak with lateral straining devices is found in
(A).  Vulture (B)  Penguin
: | (C)  Duck (D)  Parrot
;'( 79, 323 Aol WA Rt &
(A) W]'{Fﬁ’q ENTmﬁv * (B) .~ efiztgi.;ﬂ(".w-. s-;?; :‘"-'
(C)  30RET TRl & D) T FRFTT"E S
Epe-laying mammals are the natives of .
(A)  Indian subcontinent (B)  Australian region -
(©) Alrican continent (D) South Amencan region
80. €O, W wifvm o ik ) wifen ¥ 0, R aw w0 O S
HETI §
(A)  RER U B W wwy
| () slue M welige Raas
' Shilt to the tight of the O dissociation ennve in TESPONSE 0 an wnorease o tihe
l CO L pattial pressue i called
(A Haldane eltect ) Root efinee
() Nohe eliect (1 Chlonde sha
| wr e ) Pl b asd ol oned) R 2 o
I
() SRS TR SRS
\ © Rl e u\\\ NG NN
Which one of the Rllowing has the darest popiation i a fod-cham D
(\) l\\!\!\j\\‘\‘ QD Praman consumer
Davampoaser
PSS
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The o2l wall is present in
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E

Animal cell B
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Plant cell

None of these
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J Night blindness is caused duc to the deficiency of
(A)  Vitamin A (B)  Vitamin N

/
' . (C) Vitamin C (D) Vitamin D
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(B) et ‘
. D) Wa‘aam

Gametogenesis is formed during

Gamctogcncsis
(A) Spcrmatogcncsis | (B), |
(€ Oogenesis (D) Embryogenests
89. Wﬁ?wmm&fﬂﬂmw
) S o e ER @ o I
y ~ . rra' N g’m
© TR ud S A % drget Td A

"One gene onc enzyme" hypothcsis was proposcd by

(A) Jacob & Monod (B) . Watson and Crick

(@) Garrod and Jensen (D) Beadle and Tatum

9o,  Fgd WA fzr%mm fereare @
At arer & fere @ e & fe

(A)

% A e & o B@E e

Nandan Kanan Zoo is known for the
(A) Nilgiri Tiger ‘ (B) Hippopotamus

(C) White Tiger (D) Whale
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9. gRw Fntw & fo sieindis aw GRaIea & R
A g g B) TFIS
Q) I 3§ (D) g =
The Orithine cvcle for urea formation operates in the
(A} Kidneys (B Liver
(C) Pancreas (D) Ovary
)
I /- 92 RERiETw g b
{" A RIS s ) B) e s 3
(C) 99 &iRran o D) W& &S 5
Steroidogencesis takes place in
(A} Sertoli celly M) Levdig cells
(C) Germ celly (D) none of these
03 el il srenar an T
_ (N bl s e sfue sy B) T2 UE S we oty a
l % WA et i ) W) T wd
! "

The symptom of sickle-ce

} (A)

(C) gickle ahaped RNy

Il anemia ig

inadeqguate healthy RBCy M) rigid and sticky RBBCs

D) all o these
G0 S R

y (A) A e M) Dl & fay
(C) A A e 1) 0T A el & fag
,/ Cyg T O s applicalye 1

wldl Mullose ' i
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5. S ¥ ' ‘
W S IR | B o fafn J
© R s |  p wEIW |
Enzymes are | !,1
. {
(A) Biocatalysts . (B) Substrate-specific .
(C) | Protéin rﬁolecules | (D). All of these ' _ ‘
0. YR W Q, S piferenr T ¥ g | :
) e | (B~ T &
(©) TR | (D) FHTshT SN I ‘
Physiologically induced cell death is
(Aj "Necr'osi:s - (B) Héemolysis
: (C)  Osmosis | (D) Apoptosis
g7, iR Y I H :
Ay F (B) A
(©  wam - pT TOREE
| Highest éategory of taxonomy is called
(/\j Family - (B) Species \
(C) Division | (D)  Kingdom \
98. ST ST ST IR @ |
(A) TR a5 B) fafuen
©  FRER 0w
Sudden inheritable genctic change is
(A) Natural selection (B)  Variation
(C)  Mutation (D)  All of these
e
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09. st it fafvm wimifers g o from F3 € 103-
(A feenfaes snfa (B)  wEE S
(C)  Sgewwul g (D) T ST
- The species inhabiting different geographical areas is

(A) Allopatric specics (B) Sympatric specics

J ' (C)  Polytypic species ' o (D)  Sibling species

‘ 100. MR A7 B
A) T | ® e @ "
. ’ [ - ¢ N ) ) ] 04.

(C)  <hTeH IT3eHTFEES | (D) 9T H <

Minamata discasc is caused by

(A} Lead (B)  Arsenic
() €O, (D) Mercury
ot fersoy =1 g &
(A)  Fae T . Fae Ao
(C)  heiel INTAT (DY R T ST / SRe
A virus is made up of |
(M) Protein only . (B) DNA only 103
(C)  RNAonly (D)  Protein and DNA/RNA
102, WHIERT SfEd T 8
(A)  @feereR & T B EEm % foem ;
I;I;)—livmg cell is knowﬁ to be without
(A) Chloroplasts } (B) Ribosomes
(C) Mitochondria e (D) Nucleus M
I e ssessssamasssreessaamasasrs essesasiessassnsatsonssenssssssssssssssussssssens 32/48
Pl
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103. mm?*wm‘m% )
(A Tlo W
: | 9, AR 3R AR
€ HUEw e
(D)  ¥TH ¥ WIS &
Who is the father ¢
ather of Greep Revolution ?
(&)  P. Mah -
eshwarj (B). Norman Earnest Borlaug
(C) Mendel
’ (D) None of them.
104, [Pl m%mmmw%
A AR R
(A) | B)  Sidgd
() =RTHH : , [ ey
Evolutionary history of an organism is known as
(A) Ontogeny ' (B) Phylogeny
|
(C)  Ancestry. (D) Palaeoniologr
105. =R g5 T &
(A)  TEETY R | (B) - el =1
v TFE . O T R
The hcurogcnic heart is the characteristic feature of
(A)  rabbit B)  rat
(D)  lower vertebrate :
.......................................................................................................................................................................................... |
ST-25(1I) 33 /48 [j
|
/
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106. W:ﬁﬁmwe}qzﬁﬁmqgaﬁﬁﬁﬁﬁmﬁ?ﬂ%

109.

(A)  TEYT gRy (B) A HEOH FRT

(C) &g i Yt e W (D) A (A) T (B) BW
. “ The ventilation movement of the lungs in mammals are governed by

’ J . (}/ diaphragm (B)

(C)  muscular walls of lungs (D)

coastal muscles
both (A) and (B)
107, SewivE 3oy feet o s & 2 | 110
o = 3

Tget o

(A) / <Tel & ‘ (B) .
(©) TEEERTH | . D)

Calcified cartilage is present in

(A) cxternal car _ ' (B) supra-scapula
(C)  pericardium (D) ribs
108, wree @ & |
(A)  @hifeTEeH | 9/ -ﬁg
(cv) FgH | (0) R
Indian carp is
(A)  Scoliodon (B) Labco
(C)  Torpedo fish (D)  Pristis
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9. FERT T weg in
G "5," —_— Y A
U Iy g-‘:r %
{5\‘; e ?“-;_'-:RT T':{
(B) FeU Voo X
<l S T
\ AT Jery .
(D) TYl 'R TF A4l
Maximy
YW amoung of humus
‘IUS occurs m
A LOowe
t OWermost layer )
- (B) Upper laver
‘g\." .\“Cd:e lQver
- (D) Same everywhere
Q. ¥ TFe Fo mmwm e
TR
(:\.}' W \ ~ NN r
r . (B) RETA TR S
(C) NS W‘-‘L ..: — . N - 2
i /= (D) FET FTGHH 36
CFC stands for
‘:\1 i ‘ ™ b4 -
{ Chlorofluorocarbon (B) Chemical Fluorocarbon
(¢} Compressed Fluoroine Carbon (D) Carbon Fluorine Carbon
HI, S T FS5=5 80 %
{A) TERIE = (B) qig g
-~ - =t . G [ ~ we
& HISRE A (D) [S=CERI o1l |
/
Human fertilization takes place in
(Al Uterus (Bl Vagina
(C}  Ovary (D) Fallopian tube
_M:.."—--___._k., . o ST Gt
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115. TEeH
N . A
NS T g (B) TF 3R TH & .
. . (93/
€ IR uw - $ 3 [ 3T g 8 TE g
Asc
A mcthod of birth control is
(A)
A GIF
(A) IFT (B) HIF ()
Q) IVF-ET (D) 1UDS 116, T
V13, &It I shiferamiatl &1 a7 oiret &y &
4 A
(A SoEn s 5 3ol Q (B) URREm e wY Iufefy @

. C
© WA RE Yy whe we ‘
The colour of RBC is red due to the presence of T
(A) Calcium ion (B) Potassium ion (
(C) Ferric ion . (D)  All of these (I

. | : 117, =
114, T 9 SH-71 9 & o s & 5 |
A) feafma (B) foeifem st
% [ECAIER) (D) o &
Which Vitamin is not found in mijlk ?
(A)  Vitamin A (B)  Vitamin B.
G (C) Yitamin C (D) Vitamin D
Ty e T 36/-48' |406|
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. UHHRH - \ «
L STHIG: e ra e & {
@A) RH | , ]
(B) I | “4
Cy T H . e g
o (o) S () T (B ! |
& ' {
Ascaris 1s most commonly found in ]
A M
(A en " (B) Women ‘
€). Ehildien (D)  Both (A) and (B) -
116, 9 T Ufeafaes &7 & ]
' ‘ {
(A) = Rl @ B gt i feafaen o
(). TIeTEE iR o (p) T R 33
The largest ecosystem is
(A) Forest ecosystém (B) Marine ecosystem
(C) Pond ccosystem (D) Grassland e.cosys‘tem
17, quAT T T FoR € \
(8 fmmereT eyl H B) TR WWH
' . . K‘
() T ey | (D)  STOUIEE el e} |
Dudhwa National Park is located in
(A) Himachal Pradesh
(B)  Uttar Pradcsh |
(C)  Madhya Pradesh
Pradesh
............................ s
Y
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118, &R Ush YFR & 21,
(A FEAR genf &
(B)  urafs uewy @
(C)  dl g st & famed @ W @i @
,\ W @) (o) W
. 7( : Manure is
ij/ - (A)  an organic substance 1@
p | (B)  achemical substance
| (€) | obtained from decomposition of plants and animals
(D) both (A) & (C) are éorrect_
110, S % 3afn el i S & fagr e T
(A) fvew EARY B)  SIfeH gRT .
(C) o g/ () el 1@
Theory of acquired characters in living being are given by
(A)  Mendel ®) Dérwin
(C)  Lamarck (D) - Linneaus
120, e AfkTsh  fper wfe @ @ 2
3 (A 24 | B) 14 12
| J

22

; B

How many bones are there in human skull ?

A) 24 (B) 14
(f -
' ; ic) 22 - ‘ . (D) 8
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A
— : |
121 W%WM‘#AWW%W [—9_99,
(A ST g W Sgraren s Wit
(SRR S, (B)  WEle® 3t
The intermeg; (D) TR Co- L
" o ‘::;coxnptB\lnd. that connects glycolysis to Krebs' cycle ia }
(B) Citric acid '
(C) P\-ru\vic acid By At Gk '
@ T S e o o 4 i P
y e B)  Wiwvd 5
= # SR ' - (D) AUHE
Which of the following is responsible for inhibition in enzymatic reactions ?
(f\) Substrate (B) Enzyme
_ End product . (D) Tcmpcrdturc
@ TAHH §
(A) TH U | B) TR
(€ wEEAR D) S TAE
Pace-maker is S |
| 94 SA node (B) AV nod(l:
- (©) SV node (D) VA node
124, grgEllst g @
(A) i o = F (B FREH H
' (D) SR w

(Xy yfepuads @t HH!

Diabetes is due to
(A)  Naion dcficicncy (B)  Hormone deficiency

(D) lodine deficiency

1rw M oeenn AnficiencyV
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125, S_g& ¥

12

(A UEReIRg [ AL '

(& IS ’ (D) FEARESE

Insulin is a

(A) Polysaccharide (B) Protein

(C)  Fat. ' (D)  Carbohydrate 1
126. HRUE TGIGH F gRT NSRRI & e &I &

9/ UH U{ Ud 510 (B) Uel TF 5T

(C) TRIERHA FRT | | (D) R ERT

Sccretion of progesterone by corpus luteum is initiated by

(A)  MSH ' : B) LH

(C) Testosicrone , (D) Thy,roxiné
127. wm:r 3auRoT B, s S S S §

(A) - FHART B®) Fams

(© dE | O Ewd

[n operon concept, regulator gene function as

(Aj rcprcssor - (B) regulator

()  inhibitor (D) allof these
....... s et-F ............... | 8;2'25(11) ................... 40/48
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128. qﬁ«'DﬁAmATGATGATGamWﬁ@méHquﬁmm.?ﬁ

(A)  CATG ATG ATG
€] CAT Gar GAT G D) UH FAEH ISeaRae

If the DNA codons are ATG ATG ATG and a cytosine base is inserted at the
beginning then which of the following will result ?

(B) CATGATGATG

(A)  CATG ATG ATG (B) CATGATGATG
(€)  CAT GATGAT G (D) anon-sense mutation
129. WM WSO greyr & | | ¥
By TR | (B) TRV
(C) TRw&MH Dy Teh W 3 |
The proteins are synthesised- at )
(A)  ribosomes - (B) mitochondria
(C)  Centrosomes D) golgi bodies |
0. e B @ e e § 2 |
() i ®) SiesA
(o T D) TESEE
Cristae are associated with which of the following ?
" (A) Cytoplasm ' ' (B) Protoplasm
(C) Mitochondria (D) Ribosomes
131, IANEH T SMAFR T AR Fa T
(A)  SIaH R - | (B) THE §RI
C SEwET D) TR EW
Mutation was discovered and named by |
(A) Darwin | (B) Lamarck )
(C)  De Vries | (D)  Muller

----------

---------------------------------------------------------------------------------
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133.

'134.

135.

SR (91 ) w57 ayaeist ain @

(A) BIED

(B)

€ M (D]

Which is the vestigeal organ of Python ?

(©)

----------------
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WY U]

Scales

Hind limbs
ghel gRI

AT gRT

Hackel

Weismann

HHh fogem & fog
TH | HIE 7@t

standard deviation

none of these

fadident auer §
UIdeh! 3ver §

Megalecithal egg

Microlecithal egg

(A)  Nose :
(€)  Teeth )((D)
i ST 1 e e fen e
(A) T 9rR g -
(©) SfaAgRT 9
Basic principles of embryonic development were stated by
(A)  Von Baer -
(C)  Darwin o)
- TR T HT et feet S &
&) e Adw ¥ B
©) N il (D)
Chi-square test is applied for
(A)  Student t-test B
(C) goocinéss of fit D)
' qut quiERE foee g ¥
(a) ST sver -
© et e § o
Complete holoblastic cleavage occurs in
(A) Alqcithal cgg (B)
Telolecithal €88 | (D)

-------------------------------------------------------------------------
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- 138.

136.

137.

139.

@) Towtad s B) WEH
€ Ya=E ' (D)  YIHI] T HEF I

Fertilizin is a chemical substance produced from

(A) mature eggs (B)  aerosome
(C)  polar bodies ' (D)  middle piece of sperm
T At (U ) HY I HRA
(A e ERREE (B) TH T
(C) TEH FHRA | oy e ST
Which of the following develops the hair in mammals ?
(A) Stratum comeurln (B) Stratum granulosum
(C) Stratum corripactum (D) Stratum gerrpinativum

g et U S R |
(A) qa%sﬁ (B) WikTs® H

(€ SwerH Dy wwaH

Bundle of His is found in

(A)  Kidney . (B) Brain
()  Lung (D) Heart
(A) @mEE B TS
© frewd D) T
Flying fox is a |
(A)  Fox ' (B) Bat
(C)  Squirrel (D)  Fish
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140.

141,

142,

143.
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RIHeTs  aryiom fad gro guan 2

(&) s (B) e

(C)  wiEw Py’ dwHE HE

Courtship in stickleback was reported by

(A)  Lorcnz (B)  Tinbergen

(C)  Frisch (D) Desmod Morris
mm,%mme%mﬁmﬁﬁﬁﬁ@m% ?
() feloearam (B) Tt Tereett

(C) wrrhifvgar . D)  3=Eeg feroett
Which of the followmg is respons1ble for the mechamcal support protein

synthesis and enzyme transport ?

(A)  Dictyosome " (B) Cell membrane
© Mitochondria : (D)  Endoplasmic retic{num
oIS &
o AR B e
(€  JiferastEs D) WA
Glucose is |
(A)  monosaccharide (B)  disaccharide
(©)  oligosaccharide " o (D) protein
THIV] & aREEdl & T .............. 1 BT OIS § |

(a) SR B) wefE T

' %; e ot 12 R (D) ShemmT &

Which one of the following is required for the maturation of erythrocytes?
(A) Vitamin D (B) Vitamin A
TR————
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144, ST ST N v W &
8 ~COOH Ty B -NH, T
© -CH,q (D) 3 (@A) T B
The functional group, which is found in amino acid is
(A) - COOH group (B). - NH, group
~ (€) -CHj group (D)  both (A) & (B)
1@ Wﬁmwﬁf‘mﬁtﬁﬁmﬁmimm%
(A) T S & g (B) I Feh A
% ¥z % gug D) A T
Lipid the scwesfas an insulator of electrical ch:;mges found -
(A) around nervous tissue (B) in subcutaneous tissue / layer
(C) in the humps of éamel (D) - in liver and bone
@./ T 3 A SeeE R Sl e W e I €, S
() Sl (B) = e
©r FgEAd (D) Ham
Temperature changes in the environment, affect most of the animals which are
(A)  Aquatic | (B)  Desert living |
- (@) Poikilothermic (D)' Homoiothermic
147, St wqEE §, T SOie €
() HRERRT | B) HawRI
©) TR (D). T
Ina bidtic community, the primary consumers are
(A) Carnivores . (B) Omnivores
_(C) Detritivor‘es (D) Herbivores

..............................
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149.

150.

247

@) e fugt w (B) eI gerE W
© U F ow W '(D/g:ﬁﬁmﬁn
During the rainy season, bryophytes form green mat on |

(A) Damp soil (B) Rock sides

(D) All of these

(C) Bark of trees

1 e o Sore P, eranaen B <5 anve &
(A) =g weten B) foaden

(C), i | (D) wgfed

e

Biological control of agricultural pests, unlike chemical control is

(A)  Very expensive (B)  Toxic

(C) Sclf perpetuating (D) Polluting

7 o forg O] o1 @99 GER ¢ ?

y IR | (B) - fexur
) Hdfgar | o FHIWR

Which of the following animals is ferocious in nature ?

(A) -Lions (B) Deer

Fish-cating Crocodiles (D)  All of these

(C)
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HEequt f

T WA | F7 150 g Faehedd W £
¥ Wl & o R §
T I W P THRAF I T

l o
PO T U F IS
AT TE IW § W amus KA W IWI A
Haﬁmam

Tl % I 2 & feru aoen! Stess gR |

I ¥ OMR IR & feq s
Tl w1 | wx fawe Q@ ™ €, 7 @
U & faehea W@l g 3ma W@ fased i
T # K8 ™ OMR IW TFF § Ft A1
et dfet 9 | TG P
3qTETOITY :
oI
L@
2 ® -®
s W frw fd e
' OMR 3w o # 9@ F Ry
Teer & fou fRM @ WS a1 Wy
oo / E@ReAT H IW T & AR
=g PRy @ g H A & A ATH
o TrehT ST WehAT € I1 STt wiEm o
araie Hifya ferar <1 HehaT € |
OMR 3 @& & ige @ | A
dfmer TR ARk wEES  WE-wE
gafua et ® gk A / & |
WrEe 0 | W)

1.

N

o>

— IMPORTANT INSTRUCTIONS

There are 150 Multiple Choice Type
Questions.

All questions carry equal marks.
There shall be no negative marks for
wrong answers.

Please attempt all questions.

Please opt for an answer which
appears most suitable.

An OMR answer sheet will be supplied
to you separately by the Invigilator to
mark the answers. .

All questions have four alternatives
each, out of which only one is correct.
You have to choose that correct
alternative and darken the
appropriate circle with black or blue
ball pen on the given OMR answer
sheet.

For Example :

Question : .

T ® @ © ©
2 ® ® @® O

Strict directions are hereby given to
you to refrain from correction of your
earlier marked answer in OMR answer
sheet by rubbing or scratching or
using white fluid / whitener. In case
of violation of this instruction, your
result may not be processed or you
may be declared disqualified in the
exam,

Roll No., Question Booklet Set Code
and Question Booklet Serial Number
should be written on the OMR Answer
Sheet with the circle corresponding to
the digits be blackened with
Blue/Black ball point pen only
carefully and correctly.
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